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BECTION - A 10 =2 =20

1swer ALL Questions
- ich Question carries TWO marks
rv short answer type gquestinons
! hysical propertics of water respoarsible for the ascent
lem |.|.-::=.!'-'-'
e gL hore ¢
Vit point mutation? Give an example
Define hydropr .-
1 I capping d talling?
or il Lir atide in & given nucleic acid are: ﬁﬂ{‘,‘-'.'lilﬂﬂ.‘-
T Cvtosine 42%, and Uracil 10%. Name the nucleic
on the T ser of strands in it
n? Who is regarded as Father of green
9. Whic r Earcant Were crossed for better yield?
10, Name the vere credited fo

dited for showing the role of

PTO.
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SECTION - B
Answer ANY BIX questions
ch gquestion carries FOUR marks.
ATl are of short answer type question

{iv] Draw labelled diagrams, wherever necessary,

ain the steps involved in the formation of root nodule
eat labelled diagram of ch loroplast

- 3sferant types of cofactors
liffere I

18?7 Write their names

(i)

(iv)
19. Explain Calvin cycl
20, Givea brief acco

21, Wrte brief
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- TR Thfax Marks - 60
BECTION - A 1042220
nswer ALL Question:
h Question carriea TWO marks
physical praperties of water responsible for the ascent
portian of nucleotides in a given nucleic acid are: Adenine
. i Uracil 10%, Name the nucleic
8 W {on? Who is regarded as Father of green
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